H & 0l & AHS B Ml A

TN S=EAA
M J8 YAHA 2=
ol FaEerd e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S=dgAd 37,148,184 36,204,103 1,944,081
= 21,429,771
Jl 5,623,835
= 9,674,578
= 420,000
S8 LA 2= 37,099,584 36,155,503 1,944,081
= 21,429,771
) 5,623,835
= 9,625,978
= 420,000
SatEetd 2te| 2,714,160 2,546,886 167,274
= 1,250
Jl 1,391,600
= 1,321,310
HAISXelHISXIA 22,500 34,000 211,500
308 XtXIEMSO0IE 22,500 34,000 A11,500
01 XN B2 LS 22,500 34,000 A11,500
OHAE XeldlE X2 22,500
SitErsSgde A 423,750 333,750 90,000
308 AXIHSOIA 15,000 0 15,000
01 HAHHBAEES 15,000 0 15,000
O=¢sE Mo Z&M K& 15,000
403 AXIEHHSAH=201H 408,750 333,750 75,000
01 XIS A=E £ 408,750 333,750 75,000
Ot HACCPSIH & AIEEH| X1 33,750
O=% - Jts agds X2 375,000
CERZAE el2dl X2 2,114,000 2,016,700 97,300
Jl 1,268,000
[ 846,000
307 el2to| & 2,114,000 2,016,700 97,300
Jl 1,268,000
= 846,000
03 PIAHHEYE 22X 2,114,000 0 2,114,000
O==ZAXE 2,114,000
Il 1,268,000
= 846,000
SASHACCPRHAE (M2 /sE) 151,410 169,936 A8,526
Il 123,600
== 27,810
308 AXIMSOIA 151,410 169,936 A8,526
Jl 123,600
[ 27,810
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2A:

33 & SHHA 2=
el SSgg2e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 420,000
308 AtXIEHMSOIE 1,746,050 1,261,868 484,182
=S 1,326,050
= 420,000
01 AXEN B EES 1,746,050 1,261,868 484,182
O8ItE =&dg ogHla X 194,000
OUItE F=ad ogHa XA 248,000
O AtssIF dgdl X3 450,000
= 30,000
= 420,000
OAls MEsIH dgHl I 22,500
OS0HA A MSAHIE XS 28,000
OLItE a9 ofgHa N 264,000
OAl 2 ZAID| LelAMsEsIt 824 62,450
OO0rdsE JITIH X2 54,100
OJdls=sJt ggatdie K& 92,250
OtesIt &M X2 102,000
OgeEsJt &M X2 48,000
Ot M WAl AEYA 2H3HHl X~ 30,000
Ogd=EsIl 7ol Ild= SAYXXE 30,000
OPRRS HiOl2d A 24l XI& 24,000
OHX =g=E7/128 29 X 30,000
OgssIt 8545)| NE 9,750
OFA=sIt 85459 Xd 30,000
OJtssIt 2t X2 27,000
IELAALEXE 652,625 936,500 A\283,875
308 XXM SOIA 212,625 337,500 A124,875
01 AXEH B2 LS 212,625 337,500 N124,875
ONEBASAIE & SMx=L 284 S N 212,625
403 MR HHMSAH=01H 440,000 599,000 A159,000
01 AXISHHA 22 £ 440,000 599,000 159,000
OF4tsIF MHEHAIE XNIEH 440,000
JIEEE MY & A o4F FY S KE 7,140,208 7,089,868 50,340
= 5,799,688
= 1,340,520
308 AFAIEHMSOIE 7,140,208 7,089,868 50,340
= 5,799,688
= 1,340,520
01 RSN EES 7,140,208 7,089,868 50,340
OJt=geXe 3,288,831
= 2,852,221
s 436,610
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A SSYEAAL
&l ¢

33 & SHHA 2=
el Ssggac EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O4 =24ty & 2998 W28l 790,245
= 464,850
== 325,3%
OSHAl M2Bt0IH A Al XI& 1,995,238
= 1,662,698
= 332,540
OHXl A24&e XN= X2 167,700
= 129,000
=S 38,700
OFA&XE S S48l X 377,219
= 290,169
< 87,080
OFAXE PS Al HEAMA 2= 114,075
= 87,750
= 26,325
Os=¢9 Jtatzad| 19,500
= 15,000
== 4,500
OJl==ot 2gael(Hed) X 156,000
= 120,000
= 36,000
& B SSEN A 166,400
= 128,000
= 38,400
OAl eidgsHlE X3 65,000
= 50,000
[ 15,000
HM=2EHS 4,978,125 4,500,000 478,125
= 4,425,000
= 553,125
308 AFAIEHMSOIE 4,978,125 4,500,000 478,125
= 4,425,000
= 553,125
01 AXEN B2 LS 4,978,125 4,500,000 478,125
OJI=dgd Axz2 282 XN 4,978,125
= 4,425,000
== 553,125
gaxted & 29 dAMEH S KN 507,930 466,180 41,750
= 390,715
= 117,215
403 AXIEHHSAH=01d 507,930 466,180 41,750
= 390,715
= 117,215
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2A:

33 & SHHA 2=
el Ssggac EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXISHHA =22 & 507,930 466,180 41,750
OJ=gExtEX & 104,000
= 80,000
< 24,000
ONBHEASAIE XIS 403,930
= 310,715
= 93,215
=AU A2 R SHE l2AH| K& 2,838,300 2,801,800 36,500
Jl 1,703,000
=S 1,135,300
307 glztol & 2,838,300 2,801,800 36,500
Jl 1,703,000
< 1,135,300
03 P HHEE 22X 2,838,300 0 2,838,300
OJ=dgaiaz2s a2 N 2,838,300
) 1,703,000
== 1,135,300
SSSHE =2g X2 2,340,428 2,255,273 85,155
7l 1,800,329
= 540,099
308 XtXIEMSO0IH 2,340,428 2,255,273 85,155
Jl 1,800,329
s 540,099
01 XN BSELES 2,340,428 2,255,273 85,185
OSSN 28 N2 2,340,428
Jl 1,800,329
[ 540,099
v & gxeize 867,880 585,000 282,880
Il 667,600
= 200,280
403 AXIEHHS X201 867,880 585,000 282,880
Jl 667,600
= 200,280
01 AR A =2 £ 867,880 585,000 282,880
O=sdtsIL ggoiaet X2 867,880
Il 667,600
== 200,280
SHz=L2% & ASHISAH 1,965,600 1,733,716 231,884
= 1,512,000
= 453,600
308 AHAIEHMSOIE 1,965,600 1,733,716 231,884
= 1,512,000
= 453,600
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TN S=EAA
33 & SHHA 2=
el Ssggac (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 XN B2 LS 1,965,600 1,733,716 231,884
OSHz=429 & 4ASHIE NHA 1,965,600
= 1,512,000
< 453,600
M oAl XA 9,644,246 9,660,418 A16,172
= 8,531,818
= 1,112,428
308 AFRIEHMSOIE 9,644,246 9,660,418 A16,172
= 8,531,818
= 1,112,428
01 RSN EES 9,644,246 9,660,418 A16,172
OFHS ogehal X3 7,419,536
= 6,834,631
s 584,906
OTFHMS HgES Alstl X 1,708,767
= 1,315,205
== 394,562
O7 M HAFES AEYHA 2A3HH XIJ 432,348
= 333,397
= 98,951
OTFHY 20l MEH (M=) XA 82,5%
= 48,585
< 34,010
==X 2l - A2 180,000 60,000 120,000
= 120,000
= 60,000
308 AFAIEHMSOIE 180,000 60,000 120,000
= 120,000
= 60,000
01 RSN EES 180,000 60,000 120,000
OFHIS - Al 22lD[2 okl BHEX At=2te] 180,000
= 120,000
s 60,000
aPAHEE X2 98,000 63,700 34,300
= 80,000
& 18,000
308 XM SOIE 98,000 63,700 34,300
= 80,000
= 18,000
01 AXHH B EES 98,000 63,700 34,300
OSEE2YE AP H&E X2 98,000
= 80,000
= 18,000
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2A:

33 & SHHA 2=
el s=d9gard (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SESAYE FEHUES |54 N 186,200 186,200 0
= 152,000
== 34,200
308 AXIMSOIA 186,200 186,200 0
= 152,000
< 34,200
01 HASHHBAEEXS 186,200 186,200 0
OS=829E 28435 54 N& 186,200
= 152,000
= 34,200
SSEAIINLL =Y 2,565 2,565
203 HR=&H] 2,565 2,565
03 A=A =] 2,565 2,565
OSsg9d ge=d 2,565
LY -l t=EAS Mgt K2 79,698 0 79,698
) 61,306
< 18,392
308 AXIHSOIA 79,698 0 79,698
Jl 61,306
= 18,392
01 HAHHBSEXRS 79,698 0 79,698
OZELM HHl JIEEA=SHE K& 79,698
Jl 61,306
= 18,392
AXEIIEMe A& X2 542,490 351,000 191,490
= 417,300
< 125,190
308 AXIHMSOIA 196,690 0 196,690
= 151,300
< 45,390
01 HASHHBAEEXS 196,690 0 196,690
OHIAM =AXeldl XI& 196,690
= 151,300
= 45,390
403 TR M SAH=01H 345,800 351,000 25,200
= 266,000
s 79,800
01 A2 2L 345,800 351,000 A5,200
OHAM =Hg XI&H 345,800
= 266,000
[ 79,800
dH2LIH(SSLA?HL) 48,600 48,600 0
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